Signature and Name of Invigilator

1.

2.

(Signature)
(Name)

(Signature)
(Name)

D—-5805

Time : 1%4 hours]

Answer SheetNo.: ..o,
(To be filled by the Candidate)

Roll No.

(In figures as per admission card)

Roll No.

(In words)

Test Booklet No.

PAPER —1I
LAW

[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

10.
11.
12.

Instructions for the Candidates

Write your roll number in the space provided on the top of this
page.
This paper consists of fifty multiple-choice type of questions.

At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
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booklet, except for the space allotted for the relevant entries,
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You have to return the test question booklet to the invigilators
at the end of the examination compulsorily and must not carry
it with you outside the Examination Hall.

Use only Blue/Black Ball point pen.
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LAW
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1. In which of the following cases the Supreme Court held that allowing medical
examination of women to prove her virginity amounts to violation of her right to privacy
guaranteed under Article 21 of the Constitution ?

(A) Prabha Dutt V. Union of India  (B) Surjeet Singh Thind V. Kanwaljit Kaur
(C) Kamla Devi V. State of Punjab (D) P. Nulla Thampi V. Union of India

2.  Reservation for the promotion of Scheduled Castes and Scheduled Tribes are valid as it
is provided in :

(A) The Constitution [Seventy - Seventh Amendment] Act
(B) The Constitution [Eighty - First Amendment] Act

(C) The Constitution [Eighty - Fifth Amendment] Act

(D) The Constitution [Eighty - Seventh Amendment] Act

Direction for question 3 and 4 :

The following items consist of two statements one labelled the ‘Assertion (A)" and the
other labelled the ‘Reason (R)". You are to examine these statements and decide if the
Assertion (A) and the Reason (R) are individually true and if so whether the Reason is
a correct explanation of the Assertion. Select your answer to these items using the
codes given below :

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
B) Both (A) and (R) are true and (R) is not a correct explanation of (A)
(A) is true but (R) is false

D) (A) is false but (R) is true
3.  Assertion (A) : A proclamation of emergency can be issued by the President if
there is imminent danger of war or external aggression or armed
rebellion.
Reason (R) : The President can suspend the enforcement of all Fundamental
Rights during the period of emergency.
4.  Assertion (A) : It is legal and constitutional duty of the State to provide legal
aid to the poor.
Reason (R) : No one shall be denied Justice by reason of his poverty.

D —5805 2
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5.  Match List - I with List - II and select the correct answer using the codes given below
the list :
List - I List - II
(a) Freedom of Press (i) State of West Bengal V. Anwar Ali
(b)  Minority Rights (i) Brij Bhushan V. State of U.P.
(c) Just, fair and reasonable (iii) Ajiz Basha V. Union of India
(d) Special Courts (iv) Maneka Gandhi V. Union of India
Code (@ (b) (o) (d)
(A) 0 ) Gv) @)
(B) @ () @) @
(©) 0 (v G @)
(D) () (i) (v) @
6.  Match List - I with List - II and select the correct answer using the codes given below
the list :
List - I List - IT
(a) Writ of Habeas Corpus (i)  Unlawful occupation of public office
(b)  Writ of Mandamus (ii) Superior Court’s direction to subordinate
Courts
()  Writ of Quo-warranto (iii) Unlawful Detention
(d)  Writ of Certiovari (iv) Non-performance of public duties
Code @@ () (o (d)
(A) @ () @) (i)
(B) () (v O @)
(©) @ (v () (i)
(D) () () @) (@
7.  ‘Nemo debut vis Vexari” principle is related to :
(A) Self incriminatory (B) Ex-post facto law
(C) Retrospective operation (D) Double Jeopardy
8.  “Law is no doubt a remedy for greater evils yet it brings evils of its own” was said by :
(A) Lord Devlin (B) Lord Atkin
(C) Chipman Grey (D) Salmond
9.  “Custom is the sign of positive law” was expounded by :
(A) Hegal (B) Marx (C) Austin (D) Savigny
10. Ubi civitas ibi lex means :
(A) Where there is state there will not be anarchy
(B) Where there is society there is law
(C) State is necessary evil
(D) (A)and (Q)
D —5805 4
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11.

12.

13.

14.

15.

16.

17.

18.

The correlative of liberty is :
(A) Right (B) No - right (C) Power (D) Duty

“A right to retain the possession of a property until the due amount is paid” is
known as :

(A) Lease (B) Licence (C) Lien (D) Mortgage

The application of physical force of the State for the enforcement of law is :
(A) Punishment (B) Liability (C) Direction (D) Sanction

Emmanuel Kant is the exponent of :
(A) Retributive theory of punishment (B) Reformative theory of punishment
(C) Deterrent theory of punishment (D) Preventive theory of punishment

Human Rights are operative against :
(A) Humans (B) Enemies (C) State (D) Immorality

International disputes are settled by :
(A) Supreme Court (B) United Nations
(C) International Court of Justice (D) Panchayats

Two statements are given below, one is labelled as Assertion (A), and the other is labelled
as Reason (R) :

Assertion (A) International Law is pure law.

Reason (R) : International Law is made by a national legislature.
Give the correct answer from the following codes :

(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

Match the following words with their correct Article from codes given below :
List - I List - II

(a) Freedom of association (i)  Article 14
(b) Right of reservation (i) Article 21
(c) Right of livelihood (iii) Article 19
(d) Right of habeas corpus (iv) Article 22

Code: (a) (b) (c) (d)

(A) O @) () @)
(B) O @) (@) @)
(© (i) @ @@ @)
(D) (iv) () () (@)
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19.

20.

21.

22.

23.

24.

25.

26.

27.

Source of International Law is :

(A) Lok Sabha (B) Rajya Sabha

(C) Supreme Court of India (D) None of above

International disputes are settled by :

(A) Panchayats (B) Municipalities

(C) Land tribunals (D) None of above

Read the two statements. One is Assertion (A) and the other is Reason (R).

Assertion (A) : A having a wife alive marries another wife. The marriage is
void.

Reason (R) : Monogamy is the rule.

Give correct answer from the following codes.
(A) Both (A) and (R) are true
(B) Both (A) and (R) are false
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Which of the followings is not condition for a marriage under section 5 of the Hindu
Marriage Act, 1955 ?

(A) Neither should have a spouse living

(B) If the bride is below 18, consent of her guardian has been obtained

(C) They are not within prohibited degrees of relationship

(D) Neither should be subject to recurrent attack of ephilepsy

Where no form of marriage was gone through under section 7 of the Hindu Marriage
Act, the marriage is :
(A) Valid (B) Voidable (C) Void (D) Ineffective

Under Section 19, of the Hindu Marriage Act, 1955 a petition in a matrimonial case has
to be filed in the place :

(A) Where the marriage was solemnised

(B) Where the Respondent was residing at the time of the presention of petition

(C) The parties last resided together

(D) All the above

A Muslim wife may sue for divorce under the Dissolution of Muslim Marriage Act,
1939 if the husband has been insane for a period of :
(A) 1 year (B) 2 years (C) 3 years (D) 5 years

In which of the case the Question of Constitutional validity of section 9 of the Hindu
Marriage Act, 1955 came for consideration for the first time ?

(A) Digvijay Singh V. Pratap Kumari

(B) T. Sareeth V. T. Venkat Subbiaiah

(C) Yamunabai Adhav V. Anantrao Shivram Adhav

(D) Saroj Rani V. Sudarshan Kumar

Agreement is meeting of :
(A) Brains (B) Minds (C) Hands (D) Documents

D —5805 8
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20.

21.

22.

23.

24.

25.

26.

27.
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28.

29.

30.

31.

32.

33.

34.

35.

An offer cannot be accepted unless and until it has been brought to the knowledge of
the person :

(A) who made the offer (B) who asked for the offer
(C) who made invitation to offer (D) for whom it is made

To convert a proposal into a promise, the acceptance must be :
(A) qualified (B) unqualified
(C) general (D) absolute and unqualified

In which of the following statement “undue influence” does not exist :

(A) when dominating party holds real or apparent authority

(B) when a person’s mental capacity is affected because of bodily distress
(C) when a party threatens another to commit suicide

(D) when the party holds fiduciary relationship

Consideration must be of some value, but need not be :
(A) inadequate (B) minimum (C) adequate (D) maximum

Damage actually caused by a breach of contract where special circumstances have
been brought to the knowledge of the promisee is recoverable provided that when the
contract was made such damages :

(A) are excessive (B) are reasonable

(C) arise due to the fault of promisee (D) were reasonably forseeable

In which of the following cases the plea of volenti non fit Injuria can be taken :
(A) rescue cases

(B) plaintiff has knowledge of the risk

(C) plaintiff is employed in the job involving risk

(D) plaintiff had knowledge and volunteered to take the risk

Which one of the following pairs is correctly matched in the maxim “Injuria sine damno”
in the code :

(a) actionable per se

(b) not actionable
0

( actionable on proof of damage

(d) actionable on violation of legal right

Codes :

(A) ab (B) cb (C) cd (D) ad

Write the correct sequence or chronological order of the concept of absolute liability
with the help of the code below :

i Liability for dangerous substances arises on negligence

ii.  Strict liability rule has various exceptions

iii.  Strict liability arises without negligence

iv.  Liability for dangerous substances is absolute in India
Codes :

(A) i, iii, i, iv (B) i, ii, iii, iv Q) v, i, ii, iii (D) i, iv, iii, ii

D —5805 10
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30.

31.

32.

33.

34.

35.
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36.

37.

38.

39.

40.

41.

Match the following List - I with List - II and point out the correct code :

List - I List - II
(a) Vis Major (i) Trespass
(b) Res Ipsa Loquitur (i) Act of God
(c) Actionable per se (iii) Negligence
(d) Volenti non fit Injuria (iv) Scienti non fit Injuria

Code: (@) (b) () (d)

(A) (i @) @ @)

(B) (i) () (@Gv) (@)

(© (i @ () @)

(D) (iv) () (D) ()

Mark the correct answer :

(A) Tort is a statutory remedy (B) Tort is a criminal wrong
(C) Tort is a civil wrong (D) Tort is a contractual wrong

Direction :

The following items consist of two statements, one labelled as Assertion (A) and the
other is labelled as Reason (R). You are to examine these statements and decide if the
Assertion (A) and the Reason (R) are individually true and if so whether the Reason is
a correct explanation of the Assertion. Select your answer to these items using the
codes given below.

Assertion (A) When you invite somebody to your house, you cannot sue him
for trespass.

Reason (R) : One cannot enforce a right which one has voluntarily waiued
or abandoned.

Codes :

(A) Both (A) and (R) are true but (R) is not the correct explanation
(B) Both (A) and (R) are true and (R) is the correct explanation
(C) (A)is true and (R) is false

(D) (A) is false but (R) is true

Which one of the following is not essential of an offence ?
(A) intention (B) motive (C) act (D) punishment

Which one of the following jurists opined that crime is an act or omission in violation of
public rights ?
(A) Pollock (B) Austin (C) Blackburn (D) William Glanvillo

x abets y to commit murder of z. y commits murder of z. x is liable under :
(A) Sec. 109 of the Indian Penal Code (B)  Sec. 120 B of the Indian Penal Code
(C) Sec. 302 of the Indian Penal Code (D) Sec. 115 of the Indian Penal Code
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36.

37.

38.

39.

40.

41.

T fafaa =t 1 den =t 11 1 faerm SifSe aen 9@t sie sl $ia i

eft-1 -1
(a) T FA () srfmEr
(b) E W Sl © (i) ST H HHE
() T I (i) e
() wEufd ¥ {53 F Tan a9 T aa (iv) hls W &I &fd & STIAM T8I <
%< (@ () (© (@
(A) i @) @ ()
(B) (i) (@@ @Gv) @
© i @ () (i)
(D) (v) (i) @) @
T I IR it
(A) UFHA Teh HALH 3UE & (B) TUhcd Teh MAUfe Jfe ¥
(C) U T el I (D) 3T9H@ T Hfaeas Jfe §

T+ ST TSN B <) e €, ek ol heM (A) T TG I RO (R) el T | STehT ST

AT T TV AT S Tal 707 1 © T 1 e (A) SR R0 (R) ik geisk Tel § iR afe

T & A A hROT e HT T TSR § 2 3 T B SR e U ke et Heran 9 g

HIT (A) : T TR HI 3T 3T =R 9T A § 1 379 3Tk fagg =R =1 gevgwn T
L Gehd

WHNUT (R) : I fREt 7 FE s1ferR B fean & o1 & fean € @ a7 Sifusr 1 ar] 7@
Gehal

= 4 9 etquy & fau S efavas 9 TRl § 2
(A) AH (B) =W Q) =d (D) TUE

=1 ® 9 o fafereran o1 #a § fop otoy et &/ % 68 o1 &l S g1 il SR
A 2
(A) UrETR (B) ifeA (C) wiha (D) fafem woHfaa

x,yﬁzaﬁmwav‘m‘g@ﬁﬂm%l y,zaﬁmﬁé&'ﬂ%l xS'ﬂTE{I'éﬂ%:
(A) R TUe Hfed ot 91 109 % 3T=iid
(B) YR TUS Hfgdl i ¥R 120 B % T=id
(C) ¥R TUe Hfgdl ol 91 302 % 3T=iid
(D) R TU€ Hfgdl ol 91 115 & 3T=iid

D —5805 13 P.T.O.



42.

43.

44.

45.

46.

47.

48.

49.

50.

Two lovers not allowed by their parents to marry agreed to commit suicide but later on
gave up the idea of suicide. Decide the liability of the lovers :

(A) They are guilty U/S 120 B of the Indian Penal Code

(B) They are not guilty U/S 120 B of the Indian Penal Code

(C) They are guilty U/S 34 of the Indian Penal Code

(D) They are guilty U/S 309 of the Indian Penal Code

x, a girl of 16 years old was sleeping on her cot in the evening. y seeing here alone falls
upon her and pulls her lower clothes. Y is liable :

(A) U/S 375/511 of the Indian Penal Code

(B) U/S 354 of the Indian Penal Code

(C) U/S 509 of the Indian Penal Code

(D) U/S 352 of the Indian Penal Code

Under which one of the following circumstance x cannot cause death of y in exercise of
his right of private defence of body U/S 100 of the Indian Penal Code, even if y has
created an apprehension of imminent danger to his life :

(A) of causing death (B) of causing robbery

(C) of causing rape or unnatural lust (D) of causing grievous hurt
Lock-out is :

(A) antithesis of strike (B) anti-strike

(C) equal to strike (D) none of the above

Closure means :

(A) Permanent closing down of place of employment
(B) Temporary closing down of place of employment
(C) Both of the above

(D) None of the above

The Trade Union Act, 1926 applies to :
(A) Registered trade union only (B) Un-registered trade union only
(C) Both (D) None of the above

An employer is liable to pay compensation to his workman under the Workmen'’s
Compensation Act 1923 for :

(A) injury caused

(B) injury caused by accident

(C) injury caused in course of employment

(D) injury caused by accident in course of employment and out of employment

An industrial dispute may be brought before the Labour Court :
(A) Dby an aggrieved party

(B) by both the parties

(C) Dby both parties with prior permission from the Government
(D) by reference by the appropriate Government

The Trade Union can contribute to a political party :

(A) From its common fund

(B) From its common fund with consent of its members

(C) By raising a fund for this purpose from voluntary subscriptions by its members
(D) None of the above

-00o0-
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43.

44.

45.

46.

47.

48.

49.

50.

T YT |, 3R ATaT-Tyar g SR WS by STHfa 7 I W, AT i % faw R fern
Tifehe e § 3TcTee ol TR &m fean | gwitsti &0 <ifae aarsd ¢

(A) T IR TUE GiEdm w1 91 120 B % T=id UG ©

(B) I YR TUE Wiedl T &R 120 B % F=0iq Sueeml el &

(C) o Wi gue Hfed ¥ 34 % =TI STERT §

(D) A YR TUE Hiedm S ¥R 309 % STR(q STERN §

HIcTe U1 ST, x, HEAT ol 39 AR TR @ &l |y ST i STehal! S@eht 38 FI iR
ST & ST SHF STHEE I Gid A1 1y SRR €

(A) YR TUe Hfgdl ot &1 375/551 o ST=0IA

(B) WRd SUS Hfgdl sl €W 354 & ST=TId

(C) WG SUe Hfgdl sl ¥ 309 & =i

(D) WRG SUS Hfgdl sl ¥ 352 & 3=

AR S Hfgdl 1 |10 100 o ST SATKITd GL&T AHEhR 1 3T o, Fefafed § 9
fore wer afifeurfa , x, y 1 gog 1 RO TE o7 Fehdl A8 y 7 3Tk Sitad o g feran ot
e T Hi A e W e &

(A) TS9% HRU g B Fehlt 2 (B) Tkl H

(C) FAThR a1 sTEffR AgF h1 § (D) 579 o 7R <ie 189 Tkt &1
qreeEial

(A) TS i FfqERon (B) T foreft

(C) TSI o HHERH (D) 3TH | &S T

g T 1 3 T

(A)  TTISH % T &l R €9 4 9% R (B)  FTHSH o I i SRRl €9 9 o< el
(C) ST I (D) SR H ¥ HIE Tl

S e 1926 R] F ® ¢

(A) herel Gsiiehd HeEr™ HH T (B) helel STUSHihd  SHTE™ | W
(C) I (D) ST et T &

FHHFR effauet ifufmg 1923 % stia et FHHR I afqyfd wH & o e ¢
(A) &fd s f

(B) EleT § whifa &fd o fo

(C) frisH & /M g8 &fa & fora

(D) M & SRF Td ST HRU gE gee 9w aifa & fod

S =T % FHey SR foene o Seewd € ¢
(A) AT 98THR & R (B) S YeTshR % g
(C) TR &I gd TN | IHI I&THR §R (D) 3fad TR g/

FIEE T fohdl TSHIfTHR S 1 gaH o ol © -
(A) 3 = g 9

(B) HSHl I HeHld § 319+ "= fafy 9§

(C) 39 W T 9% TeH & Wifessh TH ¥ o1 e 9
(D) WK HIE Tl
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